H 7 (
H 18 4,935 (1/2 2/6 1/6)
( H 7 ( ) (
H 21 7,500 (1/2 2/6 1/6)
1,252 H15 1/3 405
90 %
8 1
2
3
4
5
7
L=350 m A= 10 ha
12
5 6
7
12 L=193 m H12
16 L= 324 m H16
L=350m
17
=95%
18




@)

H13
)
s41
S50 H5
H11 6,100kg
H15  806kg
H12
H13
H11 H14 140
H11
@)
12
350 m
7,500 4,935

H11

H11 12

130 t
70 t

7-2

600 kg
H12
H6
H5
H6
16
350

H13

S49

758kg

1410

700 t

H12

29 t
H11 25 t
H5 16,800kg

HO  472kg

H12

1200

H15

H10 1000




H12

700 m 350 m
40 ha 10 ha
20 ha 0 ha
20 ha 0 ha
0 ha 10 ha
B 7,078
C 5,680
B C 1.25
12
H16 350 m
12
1 350 m
12 17
16 324 m
2
1 14 3
3
350 m




